eds 000 “3/1C”

electrorive systems (495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru

. LF - AD
P L oS
210 | 28 1
15 [ 180 @ Il
‘ T ] IE e [ .
s o } &
= O TR I ) B FE MZ4x50
4 ) T
] = 100 he
. ) At
- OUTPUT
Ll s 2
490
560
LF -
1 1
™ EE ¥
S e :
- o ©
] ~ 3
i 1
M...FD
M EA M...FD M..FA
1 —Ty
] |ac| H | W | L |[AD | @ | LF| @ | R |AD| R |AD

C1002/3 |54 |4 258 | 474 | 469 | 1087 | 193 | 382 | 1196 | 410 | 226 | 210 | 217 | 183
C1002/3|S4 |M4LC | 258 | 474 | 460 | 1122 | 193 | 400 | 1221 | 418 | 226 | 210 | 217 [ 193
C 100 2/3 |S5 |M5S 310 | 500 | 495 |1173.5| 245 | 420 |1313.5| 450 | 266 | 245 | 247 | 245
C 100 2/3 |S5 |MS5L 310 | 500 | 495 |1217.5| 245 | 436 |[1357.5| 466 | 266 | 245 | 247 [ 245
c1004 |S1 |M1 138 | 414 | 408 | 956.5| 108 | 346 |1027.5| 348 | 103 | 135 | 124 | 108
cC1004 |S2 |M25 156 | 423 | 418 |9855( 119 354 |1056.5] 357 | 129 | 146 | 134 119
cC1004 |S3 |M3S 195 | 442.5 | 437.5 |1020.5| 142 | 358 |11255| 366 | 160 | 158 | 160 [ 142
c1004 |S3 |M3L 195 | 442.5 | 437.5 |1061.5| 142 | 366 |11525| 373 | 160 | 158 | 160 [ 142
c1004 |S4 |4 258 | 474 | 469 |1169.5| 183 | 400 12785 418 | 226 | 210 | 217 [ 193
C1004 |S4 |M4LC | 258 | 474 | 460 |1204.5| 245 | 408 |1303.5| 426 | 226 | 210 | 217 [ 193




eds 000 “3/1C"

electrorive systems (495) 979-59-00
(901) 519-59-00
eds@eds-privod.ru

440
| 28 hg
- ]
/ 8 ()
l'.\ m‘E BA2dx50
& 100 ha
!
s OUTPUT
490 N
560 L
M Ha
=
il
Fy i
STy
N
>
I EV
i P4
M1
3
5
INPUT
P225..P280
’ I M M1 | M2 N N1 N2 | N3 N4 X P Ficc)
C1002/3 [P100 | 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 45 | 7495 | 364
C1002/3 |[P112 28 | 313 | 8 | 250 | 215 | 180 | — |M12x16| 4.5 | 7495 | 364
C1002/3 [P132 38 | 413 | 10 | 300 | 265 | 230 | 16 14 5 786 | 367
C1002/3 [P160 | 42 | 453 | 12 | 350 | 300 | 250 | 23 18 6 | 8415 | 382
C1002/3 [P180 | 48 | 518 | 14 | 350 | 300 | 250 | 23 18 6 |8415 | 382
C1002/3 [P200 556 | 593 | 16 | 400 | 350 | 300 | — |M16x25| 7 | 866.5 | 403
C1002/3 |P225 | 60 | 644 | 18 | 450 | 400 | 350 | 30 18 7 912 | 403
C1002/3 [P250 | 65 | 694 | 18 | 550 | 500 | 450 | 30 18 7 942 | 426
C 1002/3_|P280 75 | 799 | 20 | 550 | 500 | 450 | 30 18 6 942_| 426
C1004 _|P63 11_| 128 | 4 140 | 115 | 95 | — | Msx19 | 4 803 | 369
c1004 |P71 14 | 163 | 5 160 | 130 | 110 | — [Msx16 | 45 | 803 | 369
C1004 |P80 19 | 218 | 6 | 200 | 165 | 130 | — |[Mi0xi2| 4 | 8225 | 371
C1004 |P90 24 | 273 | 8 | 200 | 165 | 130 | — [Mioxi2| 4 | 8225 | 371
C1004 |P100 | 28 | 313 | 8 | 250 | 215 | 180 | — |[M12x16| 4.5 | 8325 | 375
c1004 |P112 28 | 313 | 8 | 250 | 215 | 180 | — [Mi2x16| 4.5 | 8325 | 375
C1004 |P132 38 | 413 | 10 | 300 | 265 | 230 | 16 14 5 869 | ar7
C1004 |P160 | 42 | 453 | 12 | 350 | 300 | 250 | 23 18 55 | 919.5 | 381
C1004 |P180 | 48 | 518 | 14 | 350 | 300 | 250 | 23 18 55 | 9195 | 381




000 “"54cC"
(495) 979-59-00
(901) 519-59-00

eds@eds-privod.ru

570

345

106

268 hg

ot

M24x50

100 nE

OuTPUT

F1
1

-

5 A B E F F1 F2 F3 F4 A é
C 100 2 1025.5 676 140 &0 64 18 10 120 | M16x36 | 408
C1003 [HS 1025.5 676 140 60 64 18 10 120 | M16x36 | 409
C 100 4 892 632 50 24 27 8 2.5 45 MEx19 372




